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	# High Rolls
	Prob

	0
	0

	1
	0

	2
	0.02

	3
	0.11

	4
	0.46

	5
	1.48

	6
	3.7

	7
	7.39

	8
	12.01

	9
	16.02

	10
	17.62

	11
	16.02

	12
	12.01

	13
	7.39

	14
	3.7

	15
	1.48

	16
	0.46

	17
	0.11

	18
	0.02

	19
	0

	20
	0


[image: image1.png]‘The formulas for the mean and standard deviation for the binomial distribution are
necessary for calculations. They are

p=n-p ad o=\Apq




Where 
u=mean  
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= standard deviation


n = number of items


p = probability of it happening


q = probability of not happening

Example 1:

The probability of it raining on my birthday is 25%.  Find the probability that in my life of 80 years, I will rain at least 26 days.

In this problem, the probability of it raining is .25, so the probability of it not raining is .75.

[image: image3.wmf](the mean) = 80*.25 = 20    so 20 is the expected number of days it will rain.
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 ( standard deviation) = [p is .25, and q is .75], 
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= 4.47

Now we want atleast 26 days so:  

We find the z score: 

P(rain>=25.5) =   (25.5-20)/4.47 = 1.23  


Look up z score:



1.23 is a prob of .3907


Subtract from 50 in this case, because we want to be greater than 25.5



50-39.07 = 10.93%

So there is a 10.93% chance that my birthdays will be rained on 26 or more days of my 80 year life.

You try it:

1. You sell Kia cars.  The probability that a car you sell will need serious work during its warranty is 12%.  If you sell 1000 cars this year, find the probability:

a. You will need to fix more than 125 of them?

b. You will fix less than 100 of them?

2. You win at BlackJack 45% of the time.  If you play 50 games find the probability that:

a. You win more than 25 times?

b. You lose more than 30 times?

3. On any given day, there is a 60% chance that is cloudy.  In a year there are 365 days, find the the probability that:

a. There will be 200 days or more cloudy?

b. There will be less than 150 cloudy days?

c. There will be between 200 and 250 cloudy days?
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